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SECTION - I
Psychology

(C) foremurazen
(D) Wigraeen

|

I

(B) wcaaEen I
I

|

&1 w4 forg weamt 3 faa 2
(A) Fed U
- (B) fafeam s
(C) Tfaer™
(D) BT

[ J-2201] Series-B [3]

'Progressive Matrices' test was
developed by-

(A) Raven

(B) Gillford

(C) Tolman

(D) Terman

Which stage is considered most
difficult period of life ?

(A) Infancy

(B) Childhood
(C) Adolescence
(D) Adulthood

According to Freud, 'Id' is based on

..... cereeneennes PrINCiple.
A) Sorrow

(

(B) Fear
(C) Reality
(R) Pleasure

Which psychologist used non-sense
syllables as a learning material ?
(A) CarlRogers

(B) William James

(C) Ebbinghaus

(D) Festinger

[PT.O.

A
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What is the relationship between

Intelligence and Creativity ?
(A) Zero

(B) Negative

(C) Positive

(D) None

Who propounded the Kindergarten
method ?

(A) Friedrich Frobe]
(B) Gardner
(C) Watson
(D) Allport

(D) All of the aboye

'Bhatia Battery' is used for which
test ?

"~ (A) Intelligence

(B) Personality
(C) Creativity
(D) Attitude
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FRESHERS NOW

9,/ Torsq ahn sifd wee I3 & | 9.

(A) 3TSiifae |
(B) 9l W ferad |
(C) wifgw fawmg

(D) aor farg |

107 e & ST G B 10,

1 Togr ot wer S 7 |
(A) e w1 fagr |
(B) 3Tevdshdi s fHgr
(C) s 1 fagr

(D) =afede =1 fHGT

‘yl/sqafm o M) YR | 11.

(D) HAERIS

ﬁ@:ﬂ'ﬁ, ZEeR § IRadT ol ®ed & o | 12.

[J-2201] Series-B [5]

I'he most important objective of

Education is-

(A) Livelihood

(B) Learning writing and reading
(C) Intellectual development
(D) All round development

Maslow's theory of Motivation is
also known as-

(A) Theory of Drive

(B) Theory of Needs

(C) Theory of Intelligence

(D) Theory of Personality

Achievement, relationship, power
ane. (e Sa g kind of motives.
(A) Biological

(B) Environmental

(C) Emotional

(D) Psychological

Learning is a modification in a
behaviour which is relatively- ..........
(A) Temporary

(B) Permanent

(C) Controlled

(D) Uncon&olled

A [PTO.
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Mmﬁﬁﬁtﬁﬂmﬂwmﬁmﬁ
mamwmﬁﬁwmﬂ%,
N ... T |

(A) #a
(B) 33
(C) oTom

(B) 16 dfoUTo Yv-TEEAt
(C) aGQDaO |
(D) - greers et

[J-2201] Series-B

[6]

13. Child Development is a product
of interaction between Heredity

R R N . ]

(A) Physical development
(B) Mental development
(C) Moral development

() Environment

. Who gave the concept of Concrete,
Abstract and Social Intelligence?
(A) Thorndike
(B) Skinner
(C) Stern
(D) Terman

15. When two OPposing motivations

arise at the same time and want

their satisfaction at the same time
1s called - !

(A) Frustration
(B) Conflict
(C) Motivation
(D) Stress

16. Whichisnota Personality Tegt ?
(A) Rorschach Test

(B) 16 P.F. Questionnaire
(C) TAT.
(D) Binet-Simon Scale
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Mm’ﬂﬁmﬂﬁﬁmﬁaﬁm‘mﬂm
T g8 ?
(A) 1920
(B) 1916
(C) 1911
(D) 1930

y/am—%ﬁﬁmwmmﬁ'—rﬁﬂﬁiﬁaa

7 ¥ oy faurs g/ fovan & ?

(A) Tftwm siear
(B) =red eifad

[J-2201] Series-B

[7]

17. Who gave

the theory of

Psychosocial' development ?
(A) Bandura

(B) Freud
(C) Erikson

(D) Jung

18. When was first Psychological lab

established in India ?
(A) 1920
(B) 1916
(C) . 1911
(D) 1930

19. Child-centred ed-ucation was

20.

- advocated by which of the

following thinkers ?

(A) Eric Erikson

(B) Charles Darwin
(C)B.E. Skmner
(D) Iohn Dewey

Piaget's which stage is related to
abstract and logical thinking ?
(A) Sensorimotor stage

(B) Pre-operational stage

(C) Formal-operational stage

(D) Concrete—opemﬁiéﬁal stage

& | :
i L of 4
_“ ;5 Jll: {IJ Ill“ bt
™ - M I"'Iuluu ||,I i ¥ .- &
I' J. r
) L
. |
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;/./16 N 1 U s, qfig-wifed wE
75 (1Q) wier s &, vt W

21. A child of sixteen years scores 75

23 gfquremett faeneff 1 o7 By &
(A) = gfg = sifers waim ey ¥

(B) fava-swg =+ oz # favarg
@d g |
(C) Hifas - fomm %1 &t ygfa
Bldl B
(D) U Gt
[J -2201] Series-B [8]

’

in [.Q. test, his mental age will be

(A) 15 years
(B) 13 years |
(C) 12 years
(D) 14 years

22. Which of the following evaluation

comes in the continuous and

comprehensive evaluation ?

(A) Only Formative Assessment

(B) Only Summative Assessment

(C) Neither Formative Assessment
nor Summative Assessment

(D) Both Formative Assessment

and Summative Assessment

23. Traits of Gifted students ai'e -

(A) Use more cOmmon sense,

(B) Believe in understanding
subject matter.

(C) Have tendency of
thinking,

(D) All of the above

abstract
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Wﬁﬁﬂ ¥ § SH- gursier & | 2477 Which one of the following is the

Th TG HE§ ? primary agency of socialisation?
- (A) HEEEL l (A) Computer
(B) USHIfdeh g (B) Political Parties
(C) rgaferaRa (C) Heredity
(D) 9f@r (D) Family
%ﬁf&]ﬁm 319+ ferenfeat = feu fafy= l 25. A teacher makes use of a variety of
Aferma fert 1 e H wa gy, fafu= tasks to cater to the different
YHR B HE HT SN I ¥, 9 learning styles of her learners. She
qaTfaa - | is influenced by - .
N | (A) Gardner's Multiple Intelligence
(A) TER & dg-9fs A | | k.
(B) Wreel & ——— (B) Kohlberg's Moral
e ¥ | ~ I | Development theory.
(C) FEcEht AT - e (C) Vygotsky's Socio-Cultural
fagr< 9 | theory.
(D) Jude H ¥ g el | | (D) None of the above.
\2}/3{'1 fuars &1 o fasra &1 98 | 26. On which development is Jean
forg foaepTa R smenfia 27 Piaget's theory of child development
l based ?
(A) wmifSie fasm (A) Social development
(B) HIHIcHE fash™ (B) Cognitive development
(©) Sifaeh fererrd (C) Biological development
(D) IR |l | (D) All of above
ﬂdﬁ 3 B PPPPPPPPPRIPTPRRIS gfshan g 27. Developmentis a ...... 8808 process.
(A) Hifed (A) Limited
(B) ¥dAq (B) Continuous
b (C) YarcHS (C) Positive
: (D) 9™ (D) General
‘ [J-2201] Series-B [9] | [P.T.O.
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ZBAT% W HZ ® FGeR HI 3§ wy 3§ | 28, To write down the behaviours that
L5 C | (PR HEATl | | happen on the spot in that order is
- called -
(A) T S | (A) Reflective Journals
(F) T, | (B) Observation
() ﬁa-{um-mw I | (C) Narratives
G (D) Experiment
s %qﬁwﬁ Wﬁq%| | 29. Experiment is a method of
| : RBORI e :
(A) giomy | -
5) | (B) Hypothesis
(©) faversm B
ysis
) (D) Subject

30. 'Thelearner, the learning processes
and the learning situations' are

main aspects of-

(A) TIF IS FH (A) Philosophy

(B) e (B) Psychology

(C) 7iford < (C) Mathematics

(D) Fre-wHifa=m 1 - (D) Education-Psychology

[ J -2201] Series-B

P N
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- SECTION - II

English
Direction for Q.No. 31 to 33 : Direction for Q.No. 34 to 35 :
Identify thf%ﬁ?ropmte options fa?' Choose the correct article from the
iﬁ given Optzons
filiing blanks. | 3/ L R wisestboy in...........
}Aéwjkupees ................ an excessive class. ‘“
price for this pen. (A) the, the .
B) a, th
(A) is (R the
1__ (C) the, a -=
(B) are | (D) None of the above
(C) was | | yies
| _3( Ittook me......... RPN hour to reach
(D) were . | .,
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}/ Sl e obey the Constitution.

(A) would
(B) should
(©Q) must
(D) could

‘?/)B./ ........... God bless you with wisdom.
(A) Should '
(B) Can
(& May
(D) Would

Direction for Q.No. 39 to 40 :

Choose the correct form of voice.
39”7 Hereads a book.

(A) A bookis read by him.

(B) A bookwas read by him.

(C) A bookwas read by me.

(D) A book is read by me.

}0./ [ will invite him to tea.

(A) He will invited to tea by me.

(B) He will be invited to tea-‘by me.
(C) He will be invited to tea by him.
(D) He will invited to tea by him.

(J-2201] Series-B
"

Direction for Q-NO- 41 to 42 :.Fill
in the blanks with appropriate

' on for the g1 estions.
conjunction for the grven qu

(
(C) but, not only
(D) None of the above

iiiiiiiiiiiiiiiiiiiii

miss the train.
(A) before

(B) as-then

(C) lest

(D) in order that

Direction for Q.No. 43 to 44 :
Choose the correct plurals from the

| iven options.
Mﬁral of 'Epoch' is

(A) Epoches

(B) Epochs

(C) Epoch

(D) None of the above

| 44. Plural of 'Negro'is
(A) Negros

(B) Negro

(C) Negroes

(D) None of the above

[12]
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- Direction fof Q.No. 45 to 46 : 4;sggs./She says to me, "I was unwell".
Identify the appropriatealternative | (A) She said to me that she was
from the given options for ﬂllmg in [\ ... . unwell
the blanks. | 4 (B) She tells me that she was

y/éod helps thoseWho - SR unwell. |

‘themselves, - : | (C) She tells to me that she was

(A) do & i ~ unwell. i

(B) create ! G (D) She says to me that she was

(C) help ) - unwell.

(D) try ' '

& il Direction for Q.No. 49 to 51 .
Where there is a will, there Choose the most appmpﬂfﬁ_;__ﬂ'_--: ;
i I RN ﬂrapos:tton out of the given , ’{"'
(A) wes '
CE
(C) could saiesicl @ il
(D) should |

chmces. SE AN

Direction for QaNa.t 47 to 48 : b
Choose the correct ophon of

dIrEthoml Of speec it UJ._ : I H‘i’ 1:“ |ili .:{' I .-.I :=;'I..i;;.., 'h Lt .h"'ﬂ';;ﬁ{ 1{ = f \ St
He said to me, "I have ,a rf};lend lm O (G SIme e .5;1 sinv s Tl
Shimla". _ S | SO s G
| !'-f'. {E ) | fi*
1

(A) He told me that ‘he had 2
friend in Shimla.

Jl
(B) He said to me thatT av_e a

friend in Shimla. Qi
(C) He told me that I have*“ L
| friend in Shimla. ifl H
(l) He said to me that he hadf
friend in Shimla. J

[J-2201] Series-B

#__.
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Direction for Q.No. 52 to 53 :
Choose the word which is the most

opposite in meaning to the word
printed in CAPTIALS,

52 HOPE

(A) Desire
(B) Belief
(€C) Concern
(D) Despair

53/ VIRTUE
(A) Vice
(B) Character
(C) Honesty

(D) Integrity

Direction for Q.No. 54 to 55 :
Identify the appropriate alternative
Jrom the given options for filling in

the blanks. '
;}4/1 words in capital letters.
L S Lo e go there 59 INN ATE
(A) May not
(B) Can not 4, Wy
(B) Inborn

(C) Should not
(D) Dare not

llllllllllllllllllllll

serve our parents. 60

(B) May
(C) Should
(D) Ought to

[J-2201] Series-B [14]

jff

Direction for Q-No. 56 to 58 : Pick

up the correctly spelt word.

~ (A) Disciplane
(B) Discip
(C) Discipline

(D) Disiplain

aine

57/ (A) Perform

(B) Proform
(C) Prefrom
(D) Perfrom

5,6./(A) Discipal

(B) Disciple
(C) Dicsiple
(D) Dicsipel

Direction for Q.No. 59 to 60 :

Choose correct synonyms for the

(C) Incidental
(D) Acquired

COPE

(A) Hold
(B) Refuse
(C) Manage
(D) Yield
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SECTION - I1I
Hindi

4 1 T TRTH, ST G SR 6 Wﬁﬁwﬁﬂww%?
. (A) feraw

(A) ST FER WS (B) i

(B) STYI-3TIT HTH HTA (C) ¥

(C) fordit &t 7€ g (D) =

(D) o #é gg fagr & &

e./z/ﬁaamﬁﬁiﬁf'ﬁ-
T R A FT oo mazqt (A) wfagst
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(B) wwHaT

de@ﬂ " e &

(A) TeH
(B) dg¥a
(C) 2w

(D) faewst

o s
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ferhed 1 =T Hi-
(A) &8

(B) &1 |
(C) HHURG
(D) ST

ysﬂﬁ@ﬁqqﬁﬂmmwﬁ%?
(A) TR TE
(B) eaTH
(C) @
(D) THETH

L

.

:"::'_ 'EE'J - . : L}: l_ .._. -
tﬁ\ éﬂ .;’};'!__ ”ﬁ}:...* sﬁw« .!::ﬁ'"i:':"':.-'l b

1]
-
.
u

L i o
17 I "I1.
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ESHERS NOW

SECTION - IV
Mathematics
%993 9 fodlt 2w #Y s 30.3 : 91. In 1998, the population of a
| fafaa= ﬁlﬂ’[—ﬁfﬁﬁ 30.3 fuferas country was 30.3 million. The
& I §? number which is the same as 30.3
million is- _
(A) 303000000 L | (A) 303000000 J;
(B) 30300000 g : ‘)

~ (B) 30300000

(€) 3030000

(D) 3030000000
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FRESHERS NOW

y v, 15
93. = 1 g7 9% fo=1 9 #ifs IERED /93./Find the equivalent fraction of 33
7
W7 with denominator 7.
2
(A4) > -
7 ({S) -
5
(B) = | 5
7 (B) =
3
9 3
6
o 6
D) = D) 7

94. TR & 1 376 &1 T&A 24x, 9 A

9}./if the three digit number 24x i

fayfSa S e 'x' 9 1 3% | divisible by 9 then what is th
BT 2 . value of 'x' ?
(Ayifd | (A) 61 ' ;
(B) 3 (B) 3 '
&% L F e gt e s 4
(D) 4 3
0 3mulﬂ i
ol | - tan>45° WIIH%—::'NI

1 +tan”45°
| W, | R
Al A i

(Y Wk R

T‘;l .'!_ . Al i

£ S

(A) =8

\ 4 L1,
' Vi i S

LY f P
: S

o fai ke 3

1 T

i
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96. 29 ERIEEIR- ] 72% wfora ¥ wf4 | 9{./72% bf 25 students are good in
@d | foh fereneff o o w4 TRl mathematics. How many are not

T Q& good in mathematics ?
(A) 8 ;gfﬁ} & (A) 8
(B) 7 I (B) 7
‘ (C) X2 ) 12
¥ . @)
. I 9]./The producf of two whole
numbers is 24. The smallest
| possible sum of these numbers is-
A) & (RN L s -
Vo (B) 2 | (B) 9 s .',i‘_i

€) 10 sl

(k1 Wons mor o o 00 8

. i i
-3 ‘ri. iy e

198
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}/ﬂﬁ: Tan A = Cot B A+B=....... .| 99. If Tan A = Cot B theniA+B=:5...4 (&
(A) 90° | (A) 90° =
(B) 180° (B) 180° |
(C) 360° | (C) 360°
(D) 45° | (D) 45°

100. H&A Y (0) &- | 1}9./The number Zero (0) is-l
(A) fomm ge | (A) Odd number
(B) e W ) | (B) Prime number
(C) y"frf";ﬁ e (C) Natural number
(D) qof e (D) Whole number

101. Tsh |HAQM ol AN Hed 3,120 & 9% yHAThE cost of a flower vase 1§?112
THMR 3 10% @ W =@ §- ' '
391 fasa Jod -1 81 2

(A) %138
(B) ?1
()
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W(L 3):@-{(4: 1)® s HIgU A | 102. Find the distance between the
HifeIq | |

points (2, 3) and (4, 1).
(A) 442 & (A) 42
$’
(B) 3J2 <&
\/i 5 (B) 32 .
© 242 () A
(D) 12 D) 12 "
. A
}oaémavﬂz, 7088 % 11091 9% | 103. The 10* term of A.P.2,7,12........is-
e il Sl 15 aliote. o0t]] - € wwan

(@A) 45

rer
-
Vi
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y{ & 19 guagyst &1 QFFe A #1 | 105. Find the area of rhombus whose |
fre faoll %t el 10cm ol | diagonals are of length 10 cm and

8.2cm ® | 8.2cm.

(A) 82cm (A) 82cm
(B) 82cm* | (B) 82cm?’
(C) 41cm’ o (C) 41cm?
(D) 4lcm | (D) 41cm

106:3,2,5,6,4,3,4,5, 4 F ageF ¢ - | 106. Mode of 3,2, 5,6,4,3,4,5, 4 1s-

() s (A) 3
(B) 4 (B) 4
(€) 2 (C) 2
(D) 5 . D)5 j

10Z/C% Tq4 & o9 101 75°, 90° 3R 75° _ 1 : e
% | Tg! e Fo - o ‘

g & T

(A) 90°

(B) 95° |
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109. 0.0016 <Al

(A) 0.04 NN,
(B) 0.004
(C) 0.4

(D) 0.16

two n e?gﬁ;gi@e_

integers 1s-
(A) 0
(B) 1 J
(C) Negative
(D) Positive
, b
| b
IME square root of 0.0016is-
e
(A) 0.04 T O |
) ﬂt o
(B) 0.004 1A & 9
(C) 0.4 3 ‘:H)l | h
(D) 0.16 v ()
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1115 63606 H 6 & WFﬁ'qmﬂ”r hl | 111. Sum of the place values of 6 in the
T B | number 63606 is-
(A) 60606 (A) 60606
(B) 6606 (B) 6606
() 606% (C) 6066
(R 18 (D) 18

H{ﬁ HEAS 1 HewH FuvadE 28 997 | 112. HCF of two numbers is 28 and
ST STXH HHIGE 336 § 1 e T | their LCM is 336. If one number

FAI12Q, dig@i gen g - | is 112, then the other number is-

(A) 56 | (A) 56
(B) 70 | (B) 70
(C) 84 : (C) 84
(D) 98 (D) 98

113. -3 ¥ BI&t W -8 | &t quilehl aﬁ| 11137 The number of integers less thar

qE& 2- ) |

-

(A) 2

(B) 3
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114. IR 3h E'T Tﬁ'ﬁ & T ot 1 11/4/ The least four digit number which
q, 8- e by g8 is a perfect square is -
(A) 1024 ' (A) 1024
(B) 9801 O$§9® | (B) 9801 )
(©) 1@g@5§\ (C) 1000
(D) 9861 r | (D) 9861
14

115. IR it bt yomd = & v €1 o ]J»Sﬁ;he sides of four triangles are
HIF-91 H{Emﬁﬁm%7 U gtven beloﬂv. Which of them forms

a right angled triangle 7=

(A) 20cm, 22Cni, 24cm (A). 20cm, 22cm, 24cm ( \
(B) 15cm, 32cm, 37cm - (B) 15cm, 32cm, 37cm -
(C) 11cm, 60cm, 61cm | (C) 11cm, 60cm, 61cm .4
(D) 19cm, 40cm, 41cm (D) 19¢m, 40cm, 41cm § -5
e
| T R . q:'.s_
116. 999 9= goi maﬁ 1 H1A %— 116, The mean of first five whole
S8 S W .
p* | numbers is- oy s
_ s \Ii N
(A) 5 Luﬁ‘ ) (A) 5
(B) 10 Wi b -

(C) 8 N

Scanned by TapScanner



117, (3°+2°) x5° Freer IR rE-
(A) O
(B) 1
©) 2
(D) 25

119. A1 1 SFSI 13, 8,15,14,17,9,14, | L9 Letxbe the median of the data 13,

16,13, 17, 14, 15, 16, 15, 14 1 1%
x%laﬁsﬁwmlswmm,
N e HI WSS y R x Ty F
T % AN ©- ¥

(A) 28
(B) 29
() 30
D) 27

1y./6n solving (30 2 ZO)X 5" we get.
(A) 0 '
(B) 1
(C) 2
(D) 25

Pﬁé— axis is also knowmn as ............-- :

(A) abscissa
(B) ordinate

(C) origin
(D) quadrant

8 15, 14, 17, 9, 14, 16, 13, 17, 14,
15,16, 15, 14. If 8 is replaced by 18,

| | | ¢
What is the sum of the values of x

then the median of the data is ¥

= ."'.ﬂ:".:;“"
'''''
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A

1Wfﬁﬁ q Tﬂ? | g3 Hegq @1 | 120. Which of the following represents
Wm%,ww 1yt &9 “the pEIimeter of a semicircle -"!
| : | J g 3
) 0@- I having radius i A
,\O\$;} e |
: & |
(A) 27r+2¢ (A) 27r+2r |
v§ !
&
(B) r +2r | (B) Tr+2r -;F
(C) 2.?!'!" (C) ¥ 3
2 \ R
(D) =-+2r (D) ——+72r .4
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SECTION -V
EVS (SCI), G.K. and EVS (SST) ;
d SCIEI’ICE rf

_;Ygaﬁmﬁwmnwm%? 121. When is Worl |

celebrated?
(A) 28 wEd (A) 28" February |
(B) 10 wrd | (B) 10" February "'
\‘ A(C) 10 TEm=R (C) 10" November
(D) 8 #rd (D) 8™ March

%Wﬁa@aﬁﬁﬁﬁmﬁmﬁ | 122. How many total number of bong

|

€2 | | are there in Human body?
(A) 206 | (A) 206
(B) 205 | | (B) 205
(C) 208 : i ' (©) 208
(D) 204 | (D) 204
memeﬁaﬂ | 123.Jhanjhar dance is from whi ok
i & ? | district of Himachal Pradesh ? -
(A) e (A) Kangra '
(B) =¥ | (B) Chamba
(C) Temem | | (C) Shimla
(D) fawR | (D) Sirmaur
IMEEHT &1 "9 aren Frefafed § ¥ | 124, Which instrument meg
HH-T1 95 & ? | Humidity ? Su;_ |
(A) SR (A) Barometer

((E; BISUIHT (%) H?"Ometer

%
I i i
b
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FRESHERS NOW

1 Y A IR SN aTelt i gy 125. What is the name of Sugar found

in milk ?
(A) g (A) Sucrose
(B) R (B) Fructose
(C) W (C) Glucose
(D) R : | (D) .Lactose

V‘{ TS T 1 WY T i 912 126. Who was founder King of Chamba

State ?

(A) e foe (A) Champeshwar Singh

(B) W& THA j - (B) Meru Verman

(C) wifedt (C) Sahil Verman

(D) WraaE - (D) Saatvahan S

127 Fice frg ©a @ gmaf+d €7 127. The term 'double fault' is associated

with-

(A) 2 (A) Tennis

(B) ©US Sl | (B) Hand Ball

(C) <l g (C) LongJump

(D) Tt . (D) Rugby

}2( s=gr < foa &t el &1 d@™ W | 128. Indrahar Pass is situated on the

fea &2 border of which two districts?
(A) fe=TR-fere | I (A) Kinnaur-Shimla
(B) FATST-T ; (B) Kangra-Chamba
(C) =¥=II-<heT] | (C) Chamba-Kullu
(D) - | (D) Kullu-Lahaul
[J-2201] Series-B [31] Saane? | | [RIO.
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129. ‘FH&d sitaw ' ol wwd s A wfag | 129. 'Kufri Jeevan' and Kufri B
FEE two famous varieties Of- . |
(A) ZorR # (A) Tomato '
(B) TRWH (8) Almond
$‘
(Q 1= (C) Potato

\{\@\) SR F (D) Grapes
N

}%1357 =1 fadie fa o 31 33 ¥ | 130. On which date, the revolt of
s En? started from Meerut ? 3
(A) 10 &% 1857 (A) 10 May 1857

(B) 16 315w 1857 (B) 16 April 1857
(Q). 11 1 1857 (C) 11 July 1857

(D) 26 571857 (D) 26 June 1857

-

9’4“ FI YRd W AHAY FH & fa¢ | 131. Who invited Babur to in\r:"_
ey smfya foa @12 India?
(A) de@ &M e (A) DaulatKhanLodhi =
(B) faw=x windt (B) Sikandar Lodhi ]
(3 T T (C) Tbrahim Lodhi
(D) FHATR (D) None of the above 'ZF .

- ' “.r' ..._ '.l
- : e M | .

: & b R
132. ‘3o fearse' & aEs §- | 132. The author of "India Divided"

(A) Weo T (A) MK. Gandhi 8
(B) Tlo THZ YUK ' '

} .
¥ ™
4 i S - =1
i ) ] ; H - L 5 dae
] 4 i s B "=
R . L : = g | 7} “ i &
1..:, :- L 1 -_- W,
o - : ' ity

( | (C
. . b
PO | =0 B s
™ 1 ™l A
I-L e | -, w1
S bt ; . .
} T _.-:._'r"
- L s LY " oy e L phaifl |
':h B =" LA g
N SRR e i
e = -
SR T A

R D SENES
. o AR LR B
[J-2201] Ser
'i..r}- i
+ N
1'"'.-'

| 5

-
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136.

bl

e

(A) EfEuE & sV
(B) wfeum™ & Wi IV-A #
(C) wfaum & s 11
(D) Gfqer & WV #

e Sfeg fafafe siast (RIMC) foa
T § fega €72 |

(A) & i |

(B) SWIE@US TS Y 1

©) fmawRm
(D) m A A‘f Ve t..lil" ."' n .' b
2201) Series-B -

Ly’ ¥ !
i IIJ.I 11 .' | L ' il .-I
i I
C O
L] 8

'
i

133.

139!

Who started Non-cooperation
movement ?

(A) Mahatma Gandhi

(B) Jawahar Lal Nehru

(C) Bal Gangadhar Tilak

(D) Subhash Chandra Bose

.Who is the Author of Vande-

Mataram ?

(A) Mahatma Gandhi

(B) Bankim Chandra Chatterjee
(C) Rabindranath Tagore

(D) SharatChandra Chattopadhyay

Fundamental Duties of Indian
citizens are mentioned in-

(A) PartIV of Constitution

(B) PartIV-A of Constitution

(C) Part III of Constitution

(D) PartV of Constitution

136. Rashtriya Indian Military Gﬁile@e

(RIMC) is in which State ?

(A) Kerala (A

(B) Uttarakhand ¢Sk
(C) Himachal Pradesh
(D) Maharashtra
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141.%%@%%@3% 'Iwhich Himachali was awarded

YA &l 98l WHAR o6 EEE| fﬁtnl India's First Param Vir Chakra

T 91 7 posthumously after Independence?

(A) o3 aR 4 . | (A) Vijay Kumar

(B) e hisht vTw (B) Baba Kanshi Ram

(C) o faswy = ' | (C) Captain Vikram Batra

(D) HSR Wwo vt | (D) Major Somnath Sharma
1W i EB‘:I"T g feheg & 5 | 142 Deficiency of which vitamin

T2 | causes Rickets ?

(A) ferifga A (A) Vitamin A

(B) faarfi= B | | (B) Vitamin B

(C) faafmm C | (C) VitaminC

(D) faerfa| D (D) Vitamin D

1}%'( [ 9< & 59 fgad &l UL | 143. Major Dhyan Chand's birthday is
- Beftaadeudfmafafed #df#E@ | celebrated as National Sports Day

| f&=1 wamen T % 2 | in India on which among the
i ~ following dates?

(A) 29 [T (A) 29% July

(B) 29 AT (B) 29™ August

(C) 29 (C) 29" March

(D) 29 T | (D) 29" April

;.{amﬁ TS 1 A9 e 88 2 144. Arya Samaj was foundedm¥e%
(A) 1875 : & (0 (A) 1375
(C) 1885

(D) 1890

»
N
I‘ 1
b =
g
= i
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145, Teodtostto &1 faregd 9 B
(A) fafFawrs Yafeam 19
(B) g UAferm i
(C) < Yaiferam T
(D) eew Ffererm g

ig(.aﬂnﬁﬁmq%ummaﬁﬂ%?
(A) TO% HeUETY
(B) wa fae wreart
(C) TEe TreiahT
(D) ¥ | g &

1481989 %o H YW TRIET Ml SI= FHivid
Q&R {8 fhet ?
(A) it FvE
(B) i QA fohaor

(B) Light petroleum Gas
(C) Low Petroleum Gas |
(D) Lime Petroleum Gas :‘;r'
146. How is the present Gove r
Maharashtra? --,__i
(A) Devendra Fadnavis |
(B) BhagatSingh Koshyari
(C) Rahul Narwekar N
(D) None of these

I A8

147. Chamera Hydroelectric Project

situated on which River ?

(A) ‘Satluj

(B) Yamuna

(C) Beas

(D) Ravi

.

148. Who was presented in 1989 wi

first Pahari Gandhij Baba

Ram Award ? ol
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W/@" TS W e TS Rl sedt | 149. Kehluri Langﬁage is spoken in

STt & 2 * which part of Himachal Pradesh ?
(A) ToeTEg (A) Bilaspur
(B) et | (B) Lahaul
(C) =S (C) Kullu
(D) &1 _ : (D) Una
150. 11 & 9 ferrae wew =1 vl arfer . Among the following which is the
SHEA ¥ Al foen Si-41 82 most densely poPﬁlated district of
Himachal Pradesh ?
(A) =T 6 (A) Una
(B) <] (B) Chamba
(C) foemragy (C) Bilaspur
(D) THRY (D) Hamirpur

*kxkk
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